2024.7
B AREERTAN R 27
ﬁt’*iﬁ‘“ﬁ‘p" Bl BEER Y
CHEY BB A SN B g e L an b BRI 2 P E R OT o @
¢$@@TI@%%é$ %iﬁﬁﬁiiﬁ*§§%”°
B WA IR IRk — 2R R RAF
T .%L%&‘ﬁ'ﬁ%fiﬁsﬁ%%iﬁ'?ﬂPﬂ‘ﬁ)

- I RFANVEBLMGIR T F

g T % < A(Mdis) "% % < F(Mdis) "%
¢ B
(?%%$ji@§§%%ﬁﬂ) 1.50%~2.00% 0%
1Y 3%
v i d g 2 0% 2Y 2%
% (CDSC) 3Y 1%
4Y # A B
EEE KA R T S A
w7 P~ 0.5% (o) & Ly £ -
FEB A ABIT RS H R
R - -
- R EJAEFTARAGehE T F
S € XS % < AMdis) % % < F(Mdis) %
EEL 0.75% 0.75%
E 3 0.01%~0.14% 0.01%~0.14%
4% - 1.00%
i
(4oi7pcd ~ g & 0.49% 0.48%
jZ'Fl\jf-)
RAEREF 1.38% 2.37%

BT 1

ga:ﬂﬁAﬂ»?§%§MM§%’vFrﬂﬂyﬂ%@@ £ F SRR RAFRT

g T Lo FHad B FHSERA L EP o
AEmuF D 1 & 2 # 3 & 4 &

A aw 2,927~3,420 4,405~4,890 5,936~6,413 7,520~7,990

F &%) 5,489 7,039 8,655 9,216
(PTFe EFET)

AA(HRF ) YA ST B R s S
SR S T T IR LT B EE U S
iR ALEY VAR S TR A B

PR

TEFEHGEFRFF AP

FF A T RIEAGRLE)
(53208 # | g & 2 & 1) (e FA G AFEL 2 A ARE)
pape

112 £ 12 BIR !



2024.7

REBE PR 1& 2 & 3 & 4 &
T N 2,927 4,405 5,936 7,520
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i(;; $2ERY Y (A2) 1,478 1,478 1,478
1.5%) | * 3 ERF (A3 1,530 1,530
FA4ERF (AL 1,585
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Al : 100,000%1.50% + (98,500%1.05)*1.38% =1,500+1,427=2,927

A2 ((98,500%1.05)-1,427)*1.05%1.38% =101,998*1.05%1.38%=1,478

A3 1 ((101,998*1.05)-1,478)*1.05%1.38% = 105,620%1.05%1.38%=1,530

A4 ((105,620%1.05)-1,530)*1.05%1.38% =109,370%1.05%1.38%=1,585
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Al : 100,000*%2% + (98,000*1.05)*1.38% =2,000+1,420=3,420

A2 ((98,000*1.05)-1,420)*1.05*1.38% =101,480*1.05*1.38%=1,470
A3 :((101,480*1.05)-1,470)*1.05*1.38% = 105,084*1.05*1.38%=1,523
A4 ((105,084*1.05)-1,523)*1.05*1.38% =108,815*1.05*1.38%=1,577
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BRPETRAFER 5,489 7,039 8,655 9,216

¥ 1&R%* () 5,489 2,489 2,489 2,489

Fa& | %22&87% " (F2) 4,551 2,551 2,551
¥ 3 &R % *(F3) 3,615 2,615

¥ 4&R%*(F4) 1,561
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F1 : (100,000*1.05)*2.37% +100,000*3% (CDSC) =2,489+3,000 =5,489

F2 : ((100,000*1.05)-2,489)*1.05%*2.37%+100,000*2 % (CDSC)=102, 512*1.05*2.37%+100,000*2%=2,551+2,000
=4,551

F3 © ((102,512*1.05)-2,551)*1.05*2.37%+100,000*1 % (CDSC)=105,086*1.05*2.37% +100,000*1% =2,615+1,000
=3,615

F4 : ((105,086*1.05)-2,615)*1.05*1.38%=(107,725*1.05)*1.38% =1,561
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